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GENERAL INSTRUCTIONS FOR CANDIDATES
1.  You are given a Test Booklet of 28 pages as well as an OMR (Optical Mark Recognition) Answer Sheet. The

Test Booklet contains 100 questions serially numbered from 1 to 700. Count the pages of the Test Booklet

and be sure that they are in proper order. Ensure that Serial Number and Code of the Test Booklet and

the OMR Answer Sheet are same. In case of mismatch/defect/discrepancy in the Test Booklet and OMR

Answer Sheet, report to your Invigilator and get the Fest Booklet and OMR Answer Sheet replaced.

2.  Answers are to be marked only in the OMR Answer Sheet as per the details given below :

(a) Candidates are required to indicate their answers at an appropriate place on the OMR Answer Sheet.

(b) Darken only one circle for each question as per instructions given on Side-I of OMR Answer Sheet.

{c) For each question, there are four options marked (A), (B), (C) and (D) for marking answer, out of
which only one option is correct. The candidate is required to select the correct answer and darken the
corresponding circle of the chosen answer.

For example, if your answer for Question no. 37 is (C), darken the circle @as given below.
QXNo. RESPONSE
7 000

(d) Only Blue/Black Ballpoint Pen is to be used to write on the OMR Answer Sheet. Candidates should
bring their own Ballpoint Pen. Use of pencil is strictly prohibited.

3. The test will be of 2 hours 30 minutes duration from 11:00 a.m. to 01:30 p.m. and will have five sectons
with only objective-type questions. Additional time of 15 minutes is allowed for reading the
instructions/questions from 10:45 a.m. to 11:C0 a.m,

4. Additional time of 50 minutes will be allowed to “Divyang Students” (differently-abled students).

5. A single Test Booklet comprising all the five sections will be given to each candidate. There are
100 questions in all for 100 marks as per details below. Separate directions are given for each part.

Type of Test Sections Number of Questions Marks
Mental Ability Section-1 | From 1 to 20 = 20 Questons 20
English Section -I1 | From 21 to 40 = 20 Questions 20
Science Section ~ III | From 41 to 60 = 20 Questons 20
Social Science Section - IV | From 61 to 80 = 20 Questions 20
Mathematics Section -V | From 81 to 100 = 20 Questions 20

Total 100 100

6. All q;llestions are to be attempted. Every question carries one mark each. There is no negative marking.

7.  You have to qualify in each section separately. Hence, attempt all Sections without fail.

8.  Overwriting, striking, cutting, applying white/correction fluid and erasing on the OMR Answer Sheet is
not allowed. Such answers will not be evaluated. No change in the darkened circle is allowed once
marked in the OMR Answer Sheet. Do not make any stray mark on the OMR Answer Sheet.

9. Rough work must not be done on the OMR Answer Sheet. For rough work, use the space marked as
‘Space for Rough Work” in this Test Booklet.

10. A bell will be rung after every one hour.

11. Do not leave the hall without handing over OMR Answer Sheet.

12. Any candidate found either giving or receiving assistance or using unfair means during the exam will be

disqualified. Any attempt for impersonation also disqualify the candidate and invite legal action.
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G g -1/ SECTION -1
AT ARTar uierT / MENTAL ABILITY TEST
. AR -1/PART -1
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Directions : In Questions No. 1 and 2, there is a question figure on the left side, a part of which is missing.
Observe the answer figures (A), (B), (C) and (D) on the right side and find out the answer figure which,
without changing the direction, fits in the missing part of the question figure in order to complete the
pattern in the question figure. Indicate your answer by darkening the circle in the OME Answer Sheet
against the number corresponding to the question.

¥ fe=/Question Figure I RE/Answer Figures
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Y -2/PART -2
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Directions : In Questions No. 8 and 4, there are three question figures on the left side and the space for the
fourth figure is left blank. The question figures are in a series. Find out one figure from among the answer
figures given on the right side which occupies the blank space for the fourth figure on the left side and
completes the series. Indicate your answer by darkening the circle in the OMR Answer Sheet eguainst the
number corresponding to the question.
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39 : 37 e 5 Ak 6 4, 397 47 & w9 § sy a7 (A, 37, 99) & uF 907 %) 958 9K
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Directions : In Questions No. 5 and 6, one part of a geometrical figure (Triangle, Square, Circle} is on the

left side as question figure and the other one is among the four answer figures (A), (B), (C) and (D) on the
right side. Find the figure on the right side that completes the geometrical figure and darken the circle in
the OMR Answer Sheet against the number corresponding to the question.

9= Rrm/Question Figure I RE/Answer Figures
(A) (B) © (D)

(A ®) © (D)

AT -4/ PART -4
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Directions : In Questions No. 7 and 8, there is a question figure on the left side and four answer figures
marked (A), (B), (C) and (D) are given on the right side. Select the answer figure which is exactly the mirror
image of the question figure when the mirror is held at XY. Indicate your answer by darkening the circle in
the OMR Answer Sheet against the number corresponding to the question.

g R/Question Figure T RE/Answer Figures
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T -5/PART -5
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Directions : In Questions No. 9 and 10, a piece of paper is folded and punched as shown in the question
figures on the left side and four answer figures marked (A), (B), (C) and (D) are given on the right side.

Select the answer figure which indicates how the paper will appear when opened (unfolded). Indicate your
answer by darkening the circle in the OMR Answer Sheet against the number corresponding to the question.
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T -6/PART -6
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Directions : In Questions No. 11 and 12, select the correct answer out of four answers marked (4), (B), (C)
and (D). Indicate your answer by darkening the circle in the OMR Answer Sheet against the number
corresponding to the question.

11, 39 2095, 1 a0 g % o vedt @ | o) @l & 81 R 9 v @1 Bw RE w@m

(A) GHaR (B) WIEER
(C) JUER (D) WHaR
In the year 2025, January 1 falls on Wednesday. What day of the week will it be on December 31 of
that year ?
(A) Monday (B) Tuesday
{C) Wednesday (D) Saturday
12. 9 26 ISR, 2023 B Feeafen F 7 3, @ 12 1w, 2024 Y goaw 1 w-ar 7 w2
(A) YERAR ®) wufER
(C) TgWHian (D) TER
If it is a Thursday on 26t October, 2023, what would be the day on 1280 October, 2024 ?
(A) Friday (B} Saturday
(C) Thursday (D) Sunday
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Directions : In Questions No. 18 and 14, a question figure is given on the left side and four answer figures
marked (A), (B), (C) and (D) are given on the right side. Select the answer figure in which the question
figure is hidden/embedded. Darken the circle in the OMR Answer Sheet against the number corresponding
to the question.

wyq T=E/Question Figure I T9=/Answer Figures
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Directions : In Questions No. 15 and 16, the letters do not stand for themselves but are allotted some other
values based on some logical patterns or analogies and four answers marked (4), (B), (C} and (D) are given.

By deciphering the principle or pattern involved in the coded word, you are required to code the letters of the
given word. Indicate your answer by darkening the circle in the OMR Answer Sheet against the number
corresponding to the question.

15, T %< Wil # LUCKY sl ‘ZLDVM foran sam 2 | & 381 e Wi & ‘MAGIC’ 1 R 1 80 2

{A) DJHBM {(B) DJHBN
(C) CJIBN (D) CJIBM
In a certain code ‘LUCKY’ is written as ‘ZLDVM'. Then what will be the code of MAGIC' ?
(A) DJHBM (B) DJHBN
(C) CJIBN (D) CJIBM
16. TF {2 W § ‘CRICKET #! ‘CTIERGT forar simar & | dt 3t Wt d TENNIS' i % @41
BT 2
(A) TGOPJU (B) TGNQIU
(C) TGNPIU (D) TGMPIU .
In a certain code ‘CRICKET’ is written as ‘CTIEKGT". Then what will be the code of “TENNIS’ ?
(A} TGOPJU (B) TGNQIU

(C} TGNPIU (D) TGMPIU
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Directions : In Questions No. 17 and 18, select the correct answer from four answers marked (4), (B), (C)
and (D). Indicate your answer by darkening the circle in the OMR Answer Sheet against the number
corresponding to the question.
17. B o W @, o Rrenery 6t 3R Torfl R} 1 @ TR F@ F 90, 98 & IR Rl AR e @
R R e vged @ vee 9efl AR gedt B | 9fe o feRe gge % e S g qiEer f
R ], T e R A Fibem v o e fra fem &t el e 2
(A) SW (B) gfér
© @ (D) wfRm
Priya walks to her school from her home. After starting from home, she turned right twice and then
turned left before reaching the school. If Priya is facing south when she reaches her school, which
direction was she facing when she started from her home ?
(A) North (B) South
(C) East (D) West
18. wh fag P wraw g @ ¥ S fow Y ofr 20 . ¢ # ok Bg ® fg @ & 20
s i, difg R, g P At R f sk 7
A) @ (B) UM
(C) SHufRm ) FK
A point P’ is 20 m away in north-east direction from another point ‘Q’ and point ‘R’ is 20 m
north-west of point ‘Q’, then point ‘R’ is in which direction of point P’ ?
(A) East {B) West
(C) North-west {D) North

HET - 10/ PART - 10

Fe5r: yv7 977 19 3 20 F, 315 3R vE Iv7 o 13ar 7ar § a9 31 3 (A), (B), (C) WD) @ Fifgw ar
I 47 ’RE T & | I faF1 @ 39 o7 &1 37 g 97 o § 39c3eyy e 3719e @ &9/ S GHal 8 1 9797
TR %1 & % 107G 371G, ST, JHCTEF 7 307 F G & % AR IS G B BA R

Directions ; In Questions No. 19 and 20, a question figure is given on the left side and four answer figures
marked (A), (B), (C) and (D) are given on the right side. Select the answer figure which can be formed from

the cut-out pieces given in the question figure. Darken the circle in the OMR Answer Sheet against the
number corresponding to the question.

e FrA/Question Figure I f’ra/Answer Figures
- 18 | 1€ @ @ @
(4 (B) (®) (D)
- B A
(A B (&) (D)
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WUE - 11/ SECTION - II
ST / ENGLISH

Directions ; (Questions No. 21 to 40) For each question, four possible answer choices have been given, out
of which only one is correct. Select the correct answer and indicate it at the appropriate place in the OMR

Answer Sheet.

Directions : Read the passage given below and
answer the questions (Guestions No. 21 to 26).

We are all told not to worry. And vet in many
ways, it is when someone worries about us that we
know how much we are loved. Every time we
travelled to Chandigarh from Delhi, my father,
despite knowing the Shatabdi timings, would call
several times to ask if all was well and checking
what the children and I were up to. He worried and
drove mom up the wall with his worry as well. She
would advise him to wait patiently, but I guess it
was anticipation as well as excitement that kept
him hyper. And that made us feel special as well.

Now nobody calls, and 1 really miss if!
Worrying may be bad for the worrier, but it is so
very reassuring to the object of worry, the one being
worried about. If my husband shows concern when I
utter an ‘Ouch’, it makes me happy; if he were to
ignore it, ] would seriously question his feelings for
me! Much more than hearing words of love, being
worried about or reassured genuinely — when I am
upset -— reassures me of being loved. I like it when
my mom fusses around me even when she does not
Inow what is upsetting me. Why does a child run to
the mother rather than the father when hurt ?
Because the mother is the one who will show the
maximum concern and worry, which reassures the
child.

Worrying reassures the object of worry that
they are loved and cared for. It helps bind people
closer together. And while worrying excessively and
all the time is a mental illness, in small doses and at
the right time, wortying can be a great friend so
long as we use it to tip us off to find solutions.
Studies have proved that a little worry is healthy; it
helps us to be better planners, better prepared to
anticipate problems and to think through these. In
fact, the studies also show that worrying helps
people recover from trauma and to even overcome
depression.

21'

22,

23.

When someone worries for us, we feel
(A) anxious and loved

(B) anxious and angry

{C) sad and loved

(D) angry and sad

For a wife, the true test of being loved is :
(A) afew words of love.

(B) when the husband shows concern.
(C) when the husband fusses around her.

(D) when the husband gets equally upset
along with her.

Consider the following statements :

A. A mother shows maximum concern for
her child.

B. Worrying may help people recover from
trauma.

Select the correct option :

(A) A is an opinion and B is a fact.
(B) Aisafact and B is an opinion.
(C) Aistrue, but B is false.

(D) B is true, but A is false.

Which of the following statements are nof all

true ?

1. To keep on worrying for others is not good
for one’s health,

2. Chandigarh Shatabdi generally runs on

time.

3. The people one worries about always
enjoy the fact.

4. Managers who keep on worrying a lot
prove to be successful.

5. Worrying mostly leads to depression.

(A) 1,2,8

(B) 2,8,4

) 3,4,5

D) 1,2,5
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25. He worried and drove mom up the wall ..... s

The underiined expression means :

(A) making the person tense and jittery.
(B) making the person happy.

(C) teasing the person.

(D) shouting at the person.

26. It was anticipation as well as excitement.

Which pair of the following can replace the
underlined words ?

(A} expectation, eagerness

(B) encouragement, apprehension

(C) hassle, foreboding

(D) hopefulness, alarm

Directions : Read the passage given below and
answer the questions (Questions No. 27 to 80).

India, a diverse and populous nation, has long
grappled with gender disparities, particularly in
ratio of girls to boys. The girl-child ratio in India is a
significant issue that refleets social, cultural and
economic dynamics. According to available data, the
gender ratio of girls in India has shown a persistent
imbalance.

As per the 2011 census, the overall sex ratio in
India was 943 females per 1000 males. However,
when it comes to the child sex ratio (0 — 6 years), the
figures are more alarming. The census reported a
decline in the child sex ratio from 927 girls per 1000
boys in 2001 to 919 girls per 1000 boys in 2011. This
downward trend is a cause for concern as it
indicates a preference for male children and
gender-based discrimination.

The skewed ratio of girls in India can be
attributed to various factors, Cultural preferences
for male heirs, patriarchal norms and persistent
stereotypes play a significant role in perpetuating
gender bias. These biases result in sex-selective
practices such as female foeticide and infanticide.
Socio-economic factors like poverty, inadequate
healthcare facilities and limited educational
opportunities further exacerbate the problem.

27'

28.

29,

30.

ARG11/2 - Q
Select and mention the overall sex ratio in
India according to the 2011 census.
(A) 927 females per 1000 males
(B) 100 females per 1011 males
(C) 200 females per 1000 males

(D) 943 females per 1000 males

Complete the analogy by choosing the correct
option ;

diverse : similar : : : absorb
{A) culture

{B) reflect

(C) factor

(D) limited

The mentioned data in the passage shows ‘the
gender ratio of girls in India is g

Complete the expression by choosing the
correct option :

(A) confusing
(B) stable
(C) declining

(D) increasing

Seleet the option from the words which is not
similar to the meaning of ‘heir’.

(A} successor
(B} inheritor
(C) donor

(D) legatee
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31.

32.

33.

34.

ab.

36.

Choose the correct option to fill in the blank.
Unless we

(A) will start
(B) start

(C) should start
(D) started
Choose the correct option to fill in the blank.
Help! I fall.

(A) will

(B) shall

(C) am going to

(D) would have to

Choose the correct option to fill in the blank.

Feeling very angry, Ram said, ‘He
not enter my house again.’

(A) shall

(B) will

(C} should

(D) might

Choose the correct option to fill in the blank.

Many a man not know his own
gaod deeds.

(A) do

{B) was

(C) does

(D) were

Choose the correct option to fill in the blank.

The ecommittee divided on a minor
issue.

(A) is

(B) are

(C) has

(D) have

Choose the correct option to report the
following dialogue :

Father : Where are you going, Ram ?

now, we can’t be in time.

Ram : 1am going to the market.

On being asked where he was going, Ram told
his father that :

(A) he is going to the market.

(B) he was going to the market.

(C) he is coming from the market.

(D) he has been going to the market.

(10)

37.

48.

39.

40,

Choose the correct option to report the
following dialogue :

Sita +  You will have to find my book.

Sunita : Where did you keep it ?

On being told that she would have to find her
book, Sunita asked :

(A) where had she kept that.

(B) where she had kept that ?

(C) where she had kept that.

(D) where does she keep her books.

Choose the correct option to fill in the blank.

Mr. Ram Lal is
this branch.

(A) a

(B) an

(C) the

(D) No article

only manager here in

Choose the correct option to fill in the blank.

Smt. Sunita Rani is M.L.A. from
Ramnagar.

(A) a

(B) an

(C) the

(D) No article

Choose the order in which the following words
and phrases can be arranged to form a correct
sentence.

1. true service
it lasts

small service
if

U

is

(A) 3,5,1,4,2
(B) 2,8,1,4,5
(C) 1,3,4,2,5
(D) 5,1,8,2,4
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o™ / SCIENCE
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Directions : (Questions no. 41 to 60) for each question, four possible answer choices have been given, out of
which only one is correct. Select the correct answer and indicate it at the appropriate place in the OMR
Answer Sheet.
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41.

42,

When Mg(NOy), is heated in a dry boiling
tube, it gives MgO, NO, and O,. The correct
order of coefficients of Mg(NOg),, MgO, NO,
and O, in the balanced chemical equation for

the reaction is ;
(A} 2,2,2,1
(B) 1,2,4,1
© 2,2,4,1
D) 2,1,8,2

Sodium oxide reacts vigorously with water to
produce sodium hydroxide according to the

following reaction :

Nay0 (s) + HyO (1) ———> 2NaOH (ag)
This reaction can be clagsified as ;
1. Combination reaction
2. Endothermic reaction
3. Exothermic reaction
4. Redox reaction
Which of the above are correct ?
(A) 1and 8
(B) land 4
(C) 1,3 and4
(D) 1and?2
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45.

A solution gives yellowish orange colour when
a few drops of universal indicator are added to
it. This solution is of :

(A) sodium chloride
(B) sodiuvm hydroxide
(C) lernon juice

(D) milk of magnesia

Identify the group of oxides from the following

which are basic in nature.
(A) Ca0, Si0,, H,0

(B) MgO, Cu0, Na,0

(C) ZnO, Mg0, Na,0

(D) ALO,, Ca0, CuO

Which of the following statements are usually

incorrect for carbon compounds ?
1. These are good conductors of electricity.
2. These are poor conductors of electricity.

3. These have strong forces of attraction
between their molecules.

4. These have weak forces of attraction
between their molecules.

The correct options are :
(A) land4
(B 2and 4
(C) 2and3

(D) 1and3
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Structural formulae of four organic compounds
are shown below :

L IL

H H H H

|1 S
H-C-C-0-H c=C

| | / N\

H H H H

118 Iv.

H O H H
I [ ]
H-C-C-H H-C-C-H
| ||
H H H

1. I and II are saturated hydrocarbons.
2. M and ITI are unsaturated hydrocarbons,

3. Addition of hydrogen in presence of
catalyst changes I fo IV.

4. Heating with excess concentrated
sulphurie acid at 443 K changes I to I1.

The correct options are :
(A) land 2 (B)
(C) 2and 4 42)]

1and 4
3and 4

For the experiment “To show that light is

necessary for photosynthesis”, which of the

following statements are correct ?

1. BSafranin stain should be used instead of
iodine,

2. The leaf to be tested should be boiled in

alcohol in a water bath to decolorise the
leaf.

3. The entire leaf should be covered with a
black paper strip.

4. The plant should be kept in dark for
2 — 8 days to destarch it.

The correct options are :
(A) land 3
(B) 2and4
(C) 2and 3
(D) 1and4
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Consider the following statements sbout the
human circulatory system :

1. Blood consists of a fluid medium called
plasma in which various types of cells are
suspended,

All arteries carry oxygenated blood only.

Blood goes through the heart once during
each cycle.

4. Oxygenated and deoxygenated blood do
not mix with each other.

Which of the statements are incorreet ?
(A) 1and4
(B) 2and 3
(C) 1land3
(D) 2and4

The gland which secretes a hormone in
emergency situations in many animals,
including human beings, is :

(A} Thyroid

(B) Parathyroid

(C) Adrenal

(D) Pineal

The part of potato plant involved in vegetative
propagation is:

(A) Root

(B) Stem

{C) Leaf

(D) Seed

A tall pea plant with wrinkled seeds (TTrr) is
crossed with a short pea plant having round
seeds (ttRR). All F'; progeny plants will be :
(A) Tall with Round seeds

(B) Tall with Wrinkled seeds

(C) Short with Round seeds

(D) Short with Wrinkled seeds
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Two plane mirrors M, and M, are inclined to
each other at an angle of 60°. If a ray of light
is incident on mirror M; at an angle x and
then falls on mirror M, and finally, on
reflection becomes parallel to mirror M, the
value of angle x is :

(A) 20°
{C) 40°

(B)
(D)

30°
50°

A convex lens forms a 35 times magnified
image of an object on a wall. If the distance of
the wall from the optical centre of the lens is
9 m, the focal length of the convex lens is :

(A} 0-15m (B) 0-25m
(C) 1-5m (D) 25m

Consider the following statements :

1. A rainbow appears in the sky after rain
shower.

2. A rainbow is always formed in the
eastern sky when the sun is overhead.

3. A rainbow is caused by dispersion of
sunlight by tiny droplets present in the
atmosphere which act like small prisms.

4. 'The tiny droplets refract and disperse the
incident sunlight, then reflect it
internally and finally refract it again
when it comes out of the water droplets.

The correct statements are ;

(A) 1,2and 3 (B)
(C) 1,3and4 (D)

2,3 and 4
1 and 4 only

Two LED bulbs A and B have the following
ratings :

A-8W;110V

B-6W;220V
The ratio of their electrical resistances R, : By
is:
(A) 16:3
{C) 2:3

(B) 3:16
D) 3:2
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The equivalent resistanee across A and B in
the following circuit is ;
40 12Q BQ
A AWWAA
400 400 20Q

B —MWW— A —

6Q 8Q 2
(A) 20Q (B) 30Q
(C) 500 (D) 60Q

A person can spend ¥ 180 per month
(30 days) on electric light. If the cost of one
unit of electricity (1 kWh) is ¥ 6-00 and he
uses five identical bulbs for five hours a day,

the power of each bulb is :
(A) 16W (B) 40W
(C) 60W (D) 100W

An alpha particle is projected horizontally
towards east in a uniform magnetic field. If
this particle is deflected towards south by the
magnetic field, the direction of the magnetic
field must be :

downward
towards west

(B)
D)

(A) upward
(C) towards north

Select the mismatched
following :
(A) Food web -

pair from the

Interconnected
food chains in an
ecosystem
Refrigerants and
fire extinguishers
Live on dead and
decaying
organisms
Fourth  trophic
level

(B) Chlorofluorocarbons

{C) Parasites -

(D) Tertiary consumers -

The reason of limited number of trophic levels
in a food chain is :

(A) lack of sufficient food

(B) water pollution

(C) due to disease

(D) decrease in energy at higher trophic
levels
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Directions : (Questions no. 61 to 80) for each question, four possible answer choices have been given, out of
which only one is correct. Select the correct answer and indicate it at the appropriate place in the OMR
Answer Sheet.
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Arrange the following historical events in
chronological order and choose the correct
option :

1. Jallianwala Bagh incident
2. Champaran Movement

3. Kheda Movement

4. Non-Cooperation Movement
Options :

(A) 1,2,3,4

B) 2,4,1,3

(C) 2,3,1,4

(D) 8,1,4,2

What was the immediate effect of the printing
press ?

(A} Cost of books reduced in the markets,

(B} Cost of books increased in the markets.

(C) Time required for production of books

increased.

(D) Number of books in the market

decreased.

With regard to the effects of the First World
War on the Indian industries, choose the
correct statement/s :

1. Manchester imports to India declined.
2. Many new factories were set up in India.

3. The working hours of labourers in
factories in India were reduced.

Options :

(A} Only2
(B) 2and 8
(C) 1and3
(D) 1and 2
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Which of the following statements is not
correct with reference to Giuseppe Mazzini ?
(A} Giuseppe Mazzini was related to Italy.

(B} Giuseppe Mazzini described Metternich
as ‘the most dangerous enemy of social
order’.

Giuseppe Mazzini had founded a secret
society named “Young Italy’.

Giuseppe Mazzini was born in Genoa in
1807.

(€

(D)

Identify the correct statement/s from the
following :

1. In 1890, a disease called Rinderpest
widely spread in Africa.

2. Rinderpest, a plague-like disease in
cattle, had a profound effect on the
livelihood and economy of the local
people.

3. Rinderpest was introduced to Africa by
animals brought from the United
States of America.

Options :

(A) 1land3
(B} 2and3
(C) 1and 2
(D) Only3

Rahul lives in the Deccan Plateau area. Which
of the following crops is the main crop in his
area ?

(A} Rubber
(B} Cotton
(C) Jute
(D) Tea

“We have enough to satisfy everyone’s need,
but not enough to satisfy anyone’s greed.” In
what context did Gandhiji say the above
statement ?

(A) In support of the freedom movement

(B) Against colonialism

{C) Regarding conservation of resources

{I) In the context of the National Movement
of South Africa
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Which of the following is nof a metallic
mineral 7

(A) Nickel

(B) Cobait

(C) Potash

(D) Platinum

Which one of the following is the main
objective of the setting up of the National
Manufacturing  Competitiveness  Council
{(NMCC) ?

(A) To increase Hberalisation

(B) To improve industrial productivity

(C) To increase foreign exchange reserves

(D) To improve real estate sector

Which one of the following port is an inland
riverine port ?

(A) Kandla

(B) Mumbai

(C) Paradwip

(D) Kolkata

Read the following statements regarding
Belgium’s power sharing arrangement and
choose the most appropriate option :

i. No single community can make
decisions unilateraily.

2. The State governments are not
subordinate  to the Central
Government.

8. ‘There is a third kind of government
called ‘Community Government’.

4, Dutchk speaking community has
declined equal representation in the
Central Government.

Options :

(A) 1,2 and 4 are correct.
(B} 2,3 and 4 are correct.
(C) 1,3 and 4 are correct.
(D) 1,2 and 3 are correct.

Which of the following statements does nof

support democracy ?

(A) Democracy promotes the dignity of the
citizens.

{B) Democracy promotes equality among
citizens.

(C) There is no scope for correcting mistakes
in a democracy.

(D) There is rule of law in a democracy.
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Identify the feature of the Indian Republic on
the basis of the following provisions of the
Constitution and choose the correct option :

1. 'There is no official religion for the
Indian State,

2. Prohibition of discrimination
grounds of religion,

8. Freedom to profess,
propagate any religion.

on

practice and

Options :

(A) Socialist
(B) Secular

{C) Sovereign
(D) Republic

Which of the following is not the role of
political parties ?

(A) Political parties participate in elections,
(B) Political parties
opposition.
Political parties make laws.
Political parties
agreements.

play the role of

(C)
(D) sign  international

Which of the following are challenges to
political parties ? Choose the correct option :

1. Lack of internal democracy

2. Growing role of money and muscle
power

3. Lack of meaningful choice to voters

Options ;

(A) land2
(B) 1and3
(C) 2and 3
(D) 1,22and 3

Sameena is an advocate. Mention in which
sector of the economy is she working.

(A) Secondary sector

(B) Primary and Secondary sectors
(C) Tertiary sector

(D) Primary and Tertiary sectors
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MTI R B IE A& i w7 3 |
(B) U =as g v wnds o a8l 2

T 39 W RIS Fo TR B |
(©) ux =fr ek T8 ods FongR § 3R

IGH SAGAT O 3ROT T A R )

80.

(D) T =aike s g wmds RmER R
WA 98 | W AW 3 B T9gF 6
B

Freaferfiag § & S R fwle oo f

g9

1. i fe T
2. = gfi sl 3T

3. EANTIR

4. I ThE e T

e :
(A) 1,2 W 4
(B) 1T&3
(C) 2WE 4
(D) 2,3WH4

77.

78.

79.

80.

ARG11/2-Q

Which one of the following statements is true
regarding the credit of the informal sector ?

(A) The Reserve Bank of India supervises the
functioning of informal sources of loans.

The interest rate on lean of the informal
sector is decided by the government.

There is no organization which
supervises the credit activities of lenders
in the informal sector.

NITI Aayog ensures that the informal
sector maintains cash balance.

(B)

(&)

(D)

An investment made by Cargil Foods in India
is called as

(A) National investment

(B) Foreign investment

(C) Sustainable investment

(D) Provincial investment

Suppose you are the manager of a bank. You
receive the following four applications for loan.
To whom would you sanction the loan ?

(A) A person who does not have collateral
and he is heavily in debt as well.

{B) A person who does not have collateral but
there is no loan on him.

(C) A person who has collateral and he has
paid his previous loan.

(D) A person who has collateral but he is
unwilling to pay interest on the loan.

Which of the following are the features of a
developed country ?

1. Rapid pace of industrialisation
2. High per capita income

3. High infant mortality rate

4. Higher Gross Domestic Product

Options:

(A) 1,2and 4
(B} 1and3
(C) 2and 4
(D) 2,3and 4
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@8 - V/SECTION -V

foTa / MATHEMATICS

F39r: (397 @. 81 @ 100 TF) FI% 97 & [o7T W GryTfad IR (59T 1R T 8, i & Sae7 vk gl & |
Tg FT G I 391, F. IR, I UAH W 39 17 W T & |

Directions : (Questions no. 81 to 100) for each question, four possible answer choices have been given, out
of which only one is correct. Select the correct answer and indicate it at the appropriate place in the OMR

Answer Sheet.
81, TUH DYl AT ST 9 GEd O 9na
&A1 <] Hga HTedeh (HCF) R :
(A) 4 (B) 2
(©) 3 o 5
82. 2.5
(A) T YOI §
(B) T T €&
(C) T Uit T B
(D) T Ui TE @
83, k o 98 WM foas w wiew e
X +y—4 =070 2% + ky = 3 T BIE &1 T &,
T
(a) -2 (B) =2
© 3 D 2
84, afg THEHWI
2_(Z2+mx+(-mZ—dm—4)=0
% T T @, a6
(A) m=0 (B) m=2
C) m=-2 (D) m=1
85, Frafafiga 4 & S, g g
J3x2+10x+ 743 =0
I TH R ?
(A) -3 (B) 3
(C) 743 D) -7J3

81.

82.

83.

84,

85,

The HCF of the smallest prime number and
the smailest composite number is :

(A) 4 (B 2
C) 3 D) 5

25 is
{4)
(B)
)
(D}

an integer

an irrational number
a rational number

a whole number

The value of k for which the system of
equations X + y—4 = 0 and 2x + ky = 3, has no
sohution, is :

(A) -2 (B) =2

(C) 3 D) 2

If the equation
*—(2+mx+(m2-4m—-4)=0

has equal roots, then :

(A) m=0 (B) m=2

(C) m=-2 D) m=1

Which of the following is a root of the
quadratic equation V3 x2 + 10x + 74/3 =07

&Y vl (B) 3
© 73 D -743

Tewl R & Trg @ng / SPACE FOR ROUGH WORK



86.

87.

88.

89.

(23)

afe ©F n T Tl g 3 R 3eW 1€ a
U AW Ay Hd=-20=53Ma =0
'&ﬁ,?ﬁaﬁﬂﬂﬁ%‘l"ﬂ:

(A) -8 (B) 8

©) 5 (D) 10

TH I IgHW ABCD % fiH swArE 3 fog
A(3,-4), B(- 1, - 3) 3 C(-6,2) T | T I
Qﬁ'ﬁfﬁgD%ﬁﬁ?ﬂ%%

3 7
(A) (’E’ -1] (B) [1, -§]
© (1, - 2) (D) (-2,1)
et (0, 0, (- 2, 1) AW (- 3, 2) B T A
I g4 & g & FHows §
3 11
@) (3,11 (B) [E’?]
18 8 7
© [5,5) i) [E'E]

@ m§ sl ¥, AP, AQ W BC g #
TYAEN & | I AB = 5 cm, AC = 6 cm T
BC=4cm®e, 0 AP @ © -

A

10 em
75 cm

(A) 15cm
(C) 8em

(B)
(D)

86.

87.

88.

89.

ARG11/2 - Q

If in an AP of n terms with first term a and
common difference d; d = — 2, n = 5 and
a, =0, then the value of ais:

(A) -8 (B 8

(G 5 (D) 10

The three vertices of a parallelogram ABCD
taken in order are A(8, — 4), B(~ 1, — 3) and
C(- 6, 2). The coordinates of its fourth vertex

D are:

3 7
(A) [_E, _1] (B) (1, _5]
) (1, - 2) D) (-2,1)

The coordinates of the centre of the circle
passing through the points (0, 0), (- 2, 1) and

(—3,2) are:
3 11
(B) (E’ *2*—']

3 7
(D) (E'E]

(A) (3,11)

1 3
(C) (E’E]

In the given figure, AP, AQ and BC are
tangents to the circle. FAB =5 cm, AC=6 cm
and BC = 4 cm, then the length of AP is:

A

10 em
7-5 cm

(A) 15¢m
(C) 8cem

(B)
(D)

w%d ol & ferg wmg / SPACE FOR ROUGH WORK
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90,

91.

92.

afe T g9 % UK TH IgHa ABCD =
T:riTQ:,T"ﬁ:

(A) AB+BC=CD+DA

(B) AB+CD=AD+BC

(C) AB+AD=CB+CD

(D) AB+BC+CD+DA=0

& € TR H, DE | AB § | G AE = 8 em,
BD=12cm, CE=ydM CD=x%, @ x:y%:

A
//-3>E\K
C

B 12em D X

(A) 3:1
(B) 1:3
(C) 4:1
D) 1:4

gfe A ABC ~ A EDF 3, @ PrafeiRes @ ®
FT T G 2 ?

(A) BC.EF=AC.FD

(B) AB.EF=AC.DE

(C) BC:DE=AB.EF

(D) BC.DE=AB.FD

03. R by 3R by S A A WA, FAR F

= e It YeEs % veafag WO 600
qAT 30° % IV ARG el @, A hy thy =
(A) 1:2

(B} 1:3

(C) 2:1

D 3:1

(24)

90.

91.

92.

23.

If a quadrilateral ABCD is drawn to

circumseribe a cirele, then
(A) AB+BC=CD+DA
(B) AB+CD=AD+BC
(C) AB+AD=CB+CD
(D) AB+BC+CD+DA=0

In the given figure, DE || AB. If AE = 3 cm,
BD=12cm, CE=yand CD=x,thenx:yis:

A
@ g
X
B  Rem D X C
(A 3:1
(B 1:3
{C) 4:1
(D) 1:4

If A ABC ~ A EDF, then which of the following
is not true ?

({A) BC.EF=AC.FD

(B) AB.EF=AC.DE

(C) BC:DE=AB.EF

(D) BC.DE=AB.FD

If two towers of heights h, and hy subtend
angles of 60° and 30° respectively at the
mid-point of the line segment joining their
feet,then hy : hy =

(A) 1:2

(B) 1:3

© 2:1
o 3:1

wed wrd & e sy [ SPACE FOR ROUGH WORK




95.

96.

97.

(25)
R sin 6 —cos 6 =0, 0 < 6 < 90° B, a9
(sint 6 + cos? 0) T HF 2
3
A) 1 B 2
(A) (B) 7
1 1
Cc) = D =
) (D) 7
; 95.
tanB:E ’.(.ﬁ asin@+bcosd 57 T
qﬁ b % asin®-bcosd
B
2 2
b
(A) a’ +
a2 — b2
2 2
(B) 32—b2
a“+b
(©) a
a2+ p2
o ——2
\fag+b2
T AR wod Y fend ) oftf 132 em [ 96.
T | F6 T TG ©
(A) 924 cmd B) 2772 cmd
(C) 9702 cm3 (D) 19404 cm3
97.

36 cm S & Th ATHIHR a4, I AifE &
B A WU g B, § U 18 cm W W TH
e FReEn S @ 131 =8 Ten a3l we
B TF ST, A I W (em ¥) 5 W@
(A) 3 (B) 4
(C) & D 6

ARG11/2-Q

If sin 6 —cos 6 =0, 0 < 8 < 90°, then the value
of (sin® 0 + cos? 0) is:

3

A) 1 s

(A) (B) 7

1 1

Q) = R

C) 5 (D) 1
if tan® = -E-, then the wvalue of

asin@+bcosd ,
asin®~bcosd '

A)

(B] —/——

(&)

(D)

Circumference of the edge of a hemispherical
bowl is 132 em. The capacity of the bowl is :
(A) 924 cm3 (B) 2772 cm?

(C) 9702 cm?® (D) 19404 cm3

A sphere of diameter 18 cm is dropped into a
cylindrical vessel of diameter 36 cm, partly
filled with water. If the sphere is completely
submerged, then the water level rises (in cm)

by:
(A) 8 (B) 4
) 5 (D) 6

@t wrd % e sz [ SPACE FOR ROUGH WORK
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98, UH Ul % Hied B ol WIWIGHT §gd &
2 | 3hl wiRkeran fermer wa® fene Brfi 2

(A) 01
(B) 001
(C) 0-001

(D) 0-0001

99, gl arfsrs] = mew iR W ST 24 3R
268 | SEAH B AF B ;

(A) 23
(B) 25
(C) 26
(D) 30

100. IT¢ T 9TET & IR HeRT ST 8, O oMl SR 5 7
e e Sy s anfl .

1
(A)%

5
(B)'?E

17
) —
a6

25
D) 22
(D) T

8.

99,

100.

An event is very unlikely to happen. Its
probability is closest to :

(A) 01

(B) 0-01

(C) 0-001

(D) 0-0001

The mean and median of the same data are

24 and 26 respectively. The value of the mode
is:

(A) 23
(B) 25
(C) 26

(D) 30

If a die is thrown twice, the probability that
5 will not come up either time is ;

(4) 26

5
B 2
(B) 38

17
) ==
(C) 36
25

D =2
()36

wea = % o =g / SPACE FOR ROUGH WORK
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